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1. Show that cosh® x—sinh®x =1.
2. Show that sinh(x =+ y) =sinh xcosh y 4-cosh xsinh y
3. Show that cosh(x=+ y)=cosh xcosh y +sinh xsinh y

4. Show that sinh2x = 2sinh xcosh x . How about cosh2x °?
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5. Evaluate | LI dx . [

6. Evaluate L "X 1 dx. [ 4

7. Find the Taylor series of f(x)=sinhx at x=0. [A&EH % EH K]
8. Find the Taylor series of f(x)=cosx at x=0. [A&EHFIRHEHK]
9. Find the Taylor series of f(x)=tanh 'x at x=0. [4EH2IZRHEHHX]

10. If the colored area of the hyperbola x*—y®*=1 is A andthe (x,y) and
e +e?  x

1
The property gives another viewpoint of the defintion of the hyperbolic

functions. [ F 588U 15723

(x,—y) are the coordinates of given vertices, show that



https://www.youtube.com/playlist?list=PLKJhYfqCgNXjkwxSf-xDV47b9ZXDUkYiN

